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S.ab =

=(x242)2-x2
= +x+2)(x2-x+2)
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-1%x2=-2




2. (x=3)(x=1)(x+2)(x+4)+24 & AFEMNHH (x+a) (x+b) (x> +ex+d)
oIty a+ b+ c—d9] =S Fotofet.
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x> +x =A% ZgsIH
(x=3)(x = 1)(x +2)(x + 4) + 24
={(x-Dx+2Hx-3)(x+4)} +24
=2 +x-2)(x2+x-12)+24
—(A-2)(A-12)+ 2

— A2 14A + 48 = (A—6)(A - 8)
=(x*+x-6)(x2+x-8)
=(x-2)(x+3)(x* + x—28)
fatbtc—d=-2+3+1-(-8)=10




3. 2%+ xy-3y?+5x+5y+2F Aol SFH(x+ay+b)(2x+cy+d)
oltt, o] W, a + b + ¢ +d 2] S Tt}
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2x% + xy — 3y 4+ 5x + 5y + 2
=2x%2+ (y+5)x—3y% + 5y + 2
=2x+(y+5)x-(y-2)3y+1)
= {(x— (y - 2)}2x + (3y + 1))
=(x-y+2)(2x+3y+1)
ca=-1,b=2,c=3,d=1




x?—2x—y* + 2y 8 A5l SHHEY (x4 ay)(x - by +¢) 7F HrebL
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x2—2x-y* +2y

= (x> =»*) - 2(x-y)
=(x+y-2)(x-y)

= (x+ay)(x-by+c)
Al4-E vl aotH
a=-1,b=-1,c=-2
La+b+c=-1-1-2=-4
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A (x+1)(x+3)(x+5)(x+7) + a7} o] xprheF2] o] £
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(x+1)(x+3)(x+5)(x+7)+a

=(x+1)(x+7)(x+3)(x+5)+a

=(x2+8x+7)(x>+8x+15) +a

XP+8x=A2=°H

(EF=A) =(A+T7)(A+15)+a
=A%+ 22A+105 +a
=(A+11)2-16+a

whetA], g = 16 Y o O]2HA] X2 4 8x + 11 9] SHA|FA] o] Ht,




